Add Two 3-digit Numbers (1) ** Fluency & Precision 3

Complete the calculations.

Hundreds

Hundreds

e Four hundred and fifteen add two hundred and thirty-two.
® One hundred and fifty-three plus two hundred and fourteen.
e The total of three hundred and seventy-one and five hundred and eighteen.

4 1 5
+ 2 3 2

e Six hundred and twenty-three add one hundred and forty-three.
e Five hundred and forty-one plus one hundred and seventeen.
e The total of four hundred and eighty-three and four hundred and five.
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Complete the calculations.

Hundreds Tens Ones

Hundreds

e Four hundred and fifteen add two hundred and thirty-two.
® One hundred and fifty-three plus two hundred and fourteen.
e The total of three hundred and seventy-one and five hundred and eighteen.

4 1 5 1 5 3 7 1
+ 2 3 2 + 2 1 4 +
6 4 7 3 6 7 8 9
e Six hundred and twenty-three add one hundred and forty-three.
e Five hundred and forty-one plus one hundred and seventeen.
e The total of four hundred and eighty-three and four hundred and five.
6 2 3 5 4 1 4 8 3
+ 1 4 3 + 1 1 7 + 4 0 5
7 6 6 6 5 8 8 8 8
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Malachi is calculating 345 + 402 = 387.

Here is his working out.

w w
|~ b~
NN G

Can you spot Malachi’s mistake?

Work out the correct answer.

( )

L ) J

\

Here are three digit cards.

000

Zach and Leanna are making 3-digit numbers
using each card once.

| have made the greatest
possible number.

— S

| have made the
smallest
possible number.

Zach

4avha
Leanna

Work out the total of their two numbers.
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Malachi is calculating 345 + 402 = 387.

Here is his working out.

3 4 5
+ 4 2
3 8 7

Can you spot Malachi’s mistake?

Work out the correct answer.

Malachi hasn’t used zero as a place holder in
the tens column.
The correct answer should be 747.

N[

Here are three digit cards.

000

Zach and Leanna are making 3-digit numbers
using each card once.

| have made the greatest
possible number.

| have made the
smallest
possible number.

4avh
Leanna

Work out the total of their two numbers.

Zach’s number is 641.
Leanna’s numberis 146. The total is 787.

J\
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